[image: ]Division von Dezimalzahlen I


Beispiel: 247,71 : 14,99 = 24771 : 1499 ≈ 16,53



Rechne und runde auf zwei Dezimalen.

 1.   70,75 :   1,772 = 			2.  269,5 : 2,98 =
  70750 :    1772 ≈ 39,93		    26950 : 298 ≈ 90,44







 3.  221,18 : 4,41 =			4.  181,84 : 14,225 =
  22118 : 441  ≈ 50,15		    181840 : 14225  ≈ 12,78







 5.  197,36 :  10,09  =			6.  145,76 : 12,487  =
  19736 :   1009  = 19,56		    145760 : 12487   ≈ 11,67








 7.  155,81 : 1,85 =			8. 197,84 : 15,939  =
  15581 : 185  ≈ 84,22		   197840 :   15939 ≈ 12,41
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